A-ED-H-2 Les Mis

(1) Jean Valjean, the main character in Les Miserables by Victor Hugo tries to better his life after being imprisoned. (2) His three main goals are to leave his dishonest past behind, become successful, and helping others.


(3) When he is released from prison and tries to live a good life people don’t believe that he has changed and only see his criminal past. (4) They all run from him and refuse to sell him food or a place to spend the night. (5) After he finds shelter in a church, he resorts to stealing from them to acquire enough money to leave town.


(6) When he reaches the new town, he plans on meeting his next goal. (7) To become successful so he’ll never have to steal again. (8) Jean Valjean changes his name and gets a job at a local factory. (9) In ten years, his hard work and determination pays off, and he becomes president of the factory.


(10) While helping one of his workers keep her job after discovering she is poor and ill Jean reaches his third goal. (11) Before the woman dies, she asks Valjean to care for her daughter, Cosette he agrees and becomes Cosette’s father. (12) By acheiving all three of his goals, Valjean has become the good and respectable person he’s always wanted to be.
1. What correction should be made to sentence 1?

A. change Valjean, the main character to Valjean the main character

B. change Les Miserables to “Les Miserables”
C. change Hugo to Hugo,
D. change tries to tried
2. What correction should be made to sentence 2?

A. change are to is
B. change goals are to goals are:
C. change dishonest to dis-honest
D. change and helping others to and help others
3. What correction should be made to sentence 3?

A. change prison and to prison, and
B. change good life to good life,
C. change has changed to have changed
D. change criminal to criminel
4. What correction should be made to sentence 5?

A. change finds shelter to found shelter
B. change church, to church
C. change stealing to steeling
D. change them to it
5. What correction should be made to sentence 9?

A. change his hard work to its hard work
B. change determination pays to determination pay
C. change off, and to off and
D. change president to President
6. What correction should be made to sentence 10?

A. change workers to worker’s
B. change job after to job, after
C. change poor and ill to poor and ill,
D. change reaches to reached
7. What correction should be made to sentence 11?

A. change dies, she to dies she
B. change Cosette he agrees to Cosette; he agrees
C. change agrees and to agrees, and
D. change becomes to became
8.What correction should be made to sentence 12?

A. change acheiving to achieving
B. change his goals, to his goals
C. change good and to good, and 

D. change he’s to hes
9. Which of the following sentences is a fragment?

A. (2) His three main goals are to leave his dishonest past behind, become successful, and helping others.

B. (7) To become successful so he’ll never have to steal again.

C. (10) While helping one of his workers keep her job after discovering she is poor and ill Jean reaches his third goal.

D. (12) By acheiving all three of his goals, Valjean has become the good and respectable person he’s always wanted to be.

10. How should sentences 6 and 7 be combined for conciseness?

A. When he reaches the new town, he plans on meeting his next goal: to become successful so he’ll never have to steal again.

B. When he reaches the new town, he plans on meeting his next goal, which to him is to become successful so he’ll never have to steal again.

C. When he reaches the new town, he plans on meeting his next goal, and to become successful so he’ll never have to steal again.

D. When he reaches the new town, he then begins plans on how to meet his next goal, to become successful so he’ll never have to steal again.

